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. Page 43, problem 21: The last sentence of this problem should end with a period (“.”),
not a colon (“”).

. Page 70, Section 3.5: The sentence that begins “The state of a qubit can be represented
by a complex number...” should instead begin with “The state of a qubit can be
represented by a pair of complex numbers. ..”.

. Page 114, first line: Change “Choose a random ineger” to “Choose a random integer”.

. Page 229, Figure 8.3: The TCP header is missing the “Acknowledgment number” field.
The corrected version is as follows:
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5. Page 317, Figures 10.20 and 10.21: In both of these figures, the right-hand side should
be the KDC, not Bob. The corrected versions are given here.

Alice wants

Alice’s | a TGT
password

[ E(S4, TGT, K4)
Alice Alice’s Computer KDC

Figure 10.20 Kerberized login

I want to

talk to Bob ,
Tlk to Bob REQUEST %2
S\ . REPLY
Alice Alice’s Compute; KDC
Figure 10.21 Alice gets TicketToBob




